BDT training BDT(pt,,100,1) BDT(ut,,150,1) BDT(11,,200,1) BDT(et,,100,1) BDT(et,150,1) BDT(et,,200,1)
Misidentified 7, 0.9 + 0.5+ 0.4 <0.1 <0.1 254+09+13 03+03+0.1 <0.1
DY+jets 21+21+33 <0.1 <0.1 <0.1 <0.1 <0.1

Top quark <0.1 09+04+08 06+05+05 03+03+0.1 <0.1 02+02+02
Other SM <0.1 1.0+£07+16 06+06+11 10+£07+15 02+£02+05 1.0+06+1.6
Total prediction 3.0+£22+31 204+104+20 12+£07+£13 37+£11+23 04£04+£05 12£07=*16
Observed 2 6 2 2 1 1
Signal 06+03+01 044+01+08 06+£01+03 10£+£04+01 024+01+£01 02+01+£0.1




